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13,113,477 10,122,395 2,991,082
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Il 859,455 859,679 N224
S 1,445,800 0 1,445,800
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s 300,000 300,000 0
Il 859,455 859,679 N224
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202 O4Hl 1,925 2,025 A100
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307 gI2told 596,000 482,500 113,500
04 QUZHHAIE = 596,000 482,500 113,500
O M7z =22 HILIANS! JH=
&% 70,000,000 70,000 50,000 20,000
O XM&H 22 HOHAY 2 AHEH wH A&
At HBEH H20|2(IFE2SWZ 0l2)
Z& 12,000,000 12,000 18,500 26,500
O HM25z HEE 8= Al - = 703
100,000,000& = 14 100,000 0 100,000
MEHSE sS4 554,087 529,715 24,372
Il 109,455 109,679 N224
Al 444,632 420,036 24,596
MEHSH AIEALS 10,752 11,200 N448
Il 5,376 5,600 N224
Al 5,376 5,600 AN224
307 2I2+0I M 10,752 11,200 A448
Il 5,376 5,600 N224
Al 5,376 5,600 N224
02 QItABAE X 10,752 11,200 N448
O MSHSH™ AMEHAS && 10,752,000 10,752 11,200 N448
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Al 88,500 43,500 45,000
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O ZOHQUIMA 2ASD3| &4 L ALEOI(0f
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= 465, 100 0 465, 100
Al 517,100 350,000 167, 100
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O e ME 2 A3t B+3At
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S 250,000 0 250,000
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S 162,100 0 162, 100
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S 162,100 0 162, 100
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= 5,100 0 5,100
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O 28XNE WS
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& 3,500 0 3,500
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04 QIZHHAIE = 376,000 250,000 126,000
O ANEEEZ 2 50,000,000& * 14l 50,000 0 50,000
= 50,000 0 50,000
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- ROIE 29| 3 3,888,000& 3,888 4,320 A432
- AREE Y A 3,164,400 3,165 3,516 A351
- 2E8E Y A 873,000 873 970 N97
- N&E2 Asr2el £42

A 36,425,400 36,426 40,476 A4,050
- AE2 el HASE

33 6,112,800 6,113 6,792 AB79
- NS Z2EH(ARE ZHHIPE DAHS)

FA 4,163,400 4,164 4,626 NA62
- SAIS Y 2 1,260,000 1,260 1,400 A 140

o U0} EZMSZ(0AEZ) 29,028 32,252 N3,224
- MSA4 EA 22|

3 3,353,400 3,354 3,726 NA372
- POIE 29| FA 2,592,000 2,592 2,880 288
- RPE2E 29H| 3 2,268,000 2,268 2,520 NAD252
- AEg sl 248

A3 11,820,600 11,821 13,134 A1,313
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3 6,184,800 6,185 6,872 NB87
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A 2,808,000 2,808 3,120 A312
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o gxt= 3,600 4,000 A400
- ALYNSIY 2N L FI4
20| A%t A% 90,0002 90 1,000 A100
- ALHSIY TYS HIATHI| YK
Z & 900,000& 900 1,000 A100
- ALAIF FPF OEE 2ot X
A% 720,002 720 800 A80
- ALY ST YA |
A% 720,008 720 800 A8
- SN YAETE S BaAY R
A% 360,002 360 400 A0
SUMSAE 2488 358,000 318,000 40,000
= 40,000 0 40,000
Al 318,000 318,000 0
401 Al&HIL S0 358,000 318,000 40,000
S 40,000 0 40,000
Al 318,000 318,000 0
01 Al&HI 354,562 314,994 39,568
O NSHSAIE SEAY CH X2 [0arE
HAME]-EIIH 39,568 0 39,568
o NS 267X SUIMSAIE SXIBA
40,000,000 * 98.92/100 39,568 0 39,568
= 39,568 0 39,568
03 Al&=ChY| 3,438 3,006 432
O NLHSAIE HEAY TH| KR [0lALE
SN EESIEE! 430 0 432
o NS 267X SUMSAL SXIBA
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SEMSAIE B 500,000 0 500,000
401 AlEHIZ SO 500,000 0 500,000
01 Al&tt] 496,400 0 496,400
O SMHST YHYIITA
300,000,000& * 99.28/100 297,840 0 297,840
O ANZEHUAE B2TA
200,000,000& = 99.28/100 198,560 0 198,560
03 Al&=CHY| 3,600 0 3,600
O SMHST YHYIITA
300,000,000& * 0.72/100 2,160 0 2,160
O ANZEHUAE B2TA
200,000,000& = 0.72/100 1,440 0 1,440
HHE2AZHI(HM=SXIZ D) 159,306 163,236 23,930
JI2&Hl 79,585 83,515 23,930
Jl= &l 79,585 83,515 23,930
201 L2 | 42,845 44,715 A1,870
01 AtR2eltl 35,685 37,555 21,870
O LBHSHI SUH A (AE)
2& 9,546,000 9,546 10,049 2503
O 2Y2+Y SUHA(HILEY)
A 570,002 570 600 A30
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d& 27,940,000 27,940 30,000 22,060
MREs(MSRE D) 21,440 0 21,440
S=RSPNE 21,440 21,440
S=RSPNE 21,440 0 21,440
802 gtet=0l 21,440 0 21,440
02 Al - SHIEXES 21,440 0 21,440
O HBosl d=2HM=Hal AIE HAE AL
440,000 = 14 440 0 440
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